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Reflections

Draw the line segment connecting each point to its image.
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Write your own rule for reflecting a
point or object over a line.

Goc ¢ P Find RLL Pel. P i poddon e on othes side of L,
bt seme dist. fom L.

Foc objed: cellect erery ot in Oljedt.

Use your rule to reflect

pentagon JKLMN over the line. /
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Use your rule to reflect
pentagon JKLMN over the line.

Find the line of reflection for the picture at right.
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Rotations

Pick a color and draw a line segment connecting A to P and A" to P. Pick
three different colors and repeat with B, C, and D. What do you notice?
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Write a rule for rotating a point or object
about another point. P oy N\ﬁle g.
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